Physics Math Test

Projectile Motion in 2 Dimensions

. Two balls A and B of masses 100 grams and 300 grams respectively are
pushed horizontally from a table of height 3 meters. Ball A is pushed so that

its initial velocity is 10 m/s and ball B is pushed so that its initial velocity is 15
m/s.

a. Find the time it takes each ball to hit the ground.
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b. How far from the base of the table does each ball hit the ground?
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2. An arrow hits a target that is located 20 meters above and 60 meters away
from its launching position. The arrow takes 4 seconds to reach the target.
a. What is the initial horizontal velocity of the arrow?
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¢. What is the initial velocity of the arrow?




